g 2000

[

O00 19080220000

bbbt oougoogon
Jobooobobtuobodoboooboobougoogon

ooogooo

goooogoooo

OO00O0D0O0O 13:00015:300 200 300
goboboooobbbooobbboooobobbuoooooboo
gobobooooboobbooooboboooobobobboooobbbooooboooag

e U UUODDDUUOUOUDLDbDOOUUUDDbDDO
e JO00O0ODOODODOOD III,IVOODOOODOODO

e OO OOOODODODO

— oottt ooooooogg

OO0DO0ooooo I, 1voooooooo

- 0000000000000 000000D (DOo0DUoDUoooDUooUOoUoO
OoOooooogoooooo 1L 1v, v, vioooo 200000000000

goood
e OO OODODO

gogobooood

aono
oo

OO0 III
oo IV
oo v
OO0 VI
gooo
gooo

20
20
10
10
400000200
200000100



o1

02

00 IIT

010 pVDO (0DODODO0ODOOO0D)0000ODO0OOO
(00DOO0o0o0OoO)00U0oO0oUooOoOooOooO oo
1—-203—-400000000000000 2 — 30
4 —-1000000000000000DO0O0O0O0O n
o0o0oooooooO0oooooooDooD c,000
0~(=000000 /OO0O0O0O0O)0DO00oUooOO
O0000 1020304 00000000 710 T:0 T30
7, 0000000000000

1-1. 00 1—-20000000000000 H,0O 0T, O00OO0OOOO
00000 3—400000000000000 H.O T:07,0000000
1-2. 0000 T3/T>07Ty/T, 0 V,0V,0y 000000000
0000000000000000000 (pVY=00)00000000
1-3. 0000000000000 nO0 V,0V,0y 00000000

000000000000 000000000000000
oooo
O0000000000000000 GOoOO000 % -
p #y'—'ﬂf)
A
dG = —SdT + Vdp + pdN .
00000000000SOTOVOpOpON 00000000 q0o
00000000000000000000000000000
T
02

2-1. 00000000000 NDDOOOOOUOOOOOODOODODDODDODDDOO
G=upN OOOOOOODOODOO
2-2. 000000000000 O0OOO0OO0TOpOOODOOOODOOOODOODOOOODO
dpy0000D0O0OD00ODOODOODOOOD
d,u:—%dT—f—%dp
2-3. 00000000O0oOboO0oo0oobobObo0oooD TopbpOOOOODODOODDOOODO
Oobo0obO2000000000000000000O00O000ODO0ODOO0OO
dp_ L
aT = T(V, —V7)



o3

Oo0o0o0o0oO0ooooooo Lov,0v, 0000 1000000000000000
goboboooobboooobouooooo
2-4. 000000000DOO0ODODDODO0ODODUOOODDLDUOOODbDODUODDbDOUOOODbDDbDOCn
(00000)00oo0 700000000000 0O0OODO0OUO0O0UDOO0OOLO0OO
o0ooooov,>V,0000000000000000000C00 ROOOO
0000000000000 000000000O0000000O0oUoO00 (H)oooo N
00000o0000oO0o00oon0 z0000000O0O0DOOO J(J>00D0OOooooOO
gogobobooooboo

1

E=—-J HO'Z'O'j—MHZJi2’—(/LH—|—ZJI)ZO'¢+§ZNJ:E2
(4,3) i g

DDDDDDDDDDDDDDDDDZDDDDDDDDDDDDDDDDDDDMDDD

(i,5)
ooobobooooobobUbdUte; 0 £Z10000DODO0O0O0ODODO; UDDDOO 200

oO000oo0d0ooOoO00ooo0d0ooDoO00ooDoO0oooUOU0DDOd kzO0DODOO0ODOOOO

ugn

3-1. z 00O ODODODOODODOOOOUO0OU0U0U00U0UUUUUUUUUUUUUULUUOO
goood

1 H
F = _zNJx* — Nk;Tlog |2 cosh pi +zJe
2 ksT

3-2. 000000000000000 (J=00k,T>pH|))DOODOOOO
00000 M=-9F/0HODODDOO0O x=dM/OH OOOOO

3-3. 0000000000000 (H=00k,T<2J)0000000
FO:0000000000000000

3-4. 0; 00000 z 00000000 (D00O0O0O0O0O0D0)00000

3-5. 0000000000 (J>0)000000000 H=0000000000000
000000000000000000000000000 (00000007,) 00
000



00 I1Iv

0100000000boo0d

1-1. 000000 ooboboooobobooo 3sionmODbO00ooooooboboogo
0000000000 15mmd004eVO000OO00OO0ODOODOODOODOODOODOO
000000000000 (eVOnm) OOODOODOOOO

1-2.0< < LU0O000000OOO0ODO00OOOOONDOOOOOCOOO 9¥(x)
NsinZZ 00000NOODOOOODODOOO0DO 00O L/3000000000000
gobooogd

1-3. 0 10000000DO0DO0ODO0ODO0ODOO0OD0OD EODODODODODOODODO
000000 K 0000000000000 000000o000

14
b A b
\VaVau N
"\
> X
01

1-4. 0000 O0OO0O J}(izl,Q,S)DDDDDDDDD g UOO0o0oooooood
goo

D00000000000000 J2=37 ,J;J;0 ;000000000000
0oo
1-5. HClOO0OOOOOO0000000000000000000000000000
0000 w0000000 RO 000000000 LOOO
X L2
H=-"1%
2uRG
0000000000000000000000000000000000000
0oo



0200000000000000000000000000000000 —e000000
0000000 r=(zy,20000000000000000 V(r)=—e/r (r=
r)0000000000 p000000ay=h?/pe?00000000000000
000000D0DO0ONOOODOOOOOO Ne™/% 0000000000000000
000000000000000000000000000000000

2-1. 00000000000000000000000000000000O0OO0O0O0
D0ODONDOOOD <r">0n:000000000000000 f° e tdt = n!
00000000m

2-2. 0000000 V20000000000

92 290 1 1 0,. 0 1 1 09?2

=7 T rar T rmoaa 00 T o
O0o0odooog0 r00ddoogoodgbocgoogb oo oooono
Oodooodoooouooogon

2-3. 0000000000000 A0DDO0OD00O A8(x)d(y)d(z) 00000000000
lsO2p 0000000000000 DOO0O0OOODODOOOOONO

2-4. 00000000 OCO00ODOOO0O0OoOOOOOoUooOooOoOoOoOoOooDoOoogogooog

goboboooobbboooobobboooooobooon

v2

00000000 H,0OODOODOOO 000000 E0OOOOOOOOOOOOO
H —eE000000
FyO

E

F0:—<C—|—a0>z
e \2

0000000000000000 [0>0000000
[ﬁo,ﬁo]yo >= I:I/‘O>
gooooooooooon

2-5. 000 [Hy, Fy]l0>=H'|0>000000000000000 p=—e2000000
00000000000 <p>=2<0JezFp|0>0000000000000

2-6. J000000000000000 a=<p>/E0deO000000O
<p>=2<0lezFy|0 >0000000000000000000 «0000000
000000000000000000000000000000000000000
0000000000000000000



00V

00000 (000o0)000000oo00oO00o00000DOO0DDOOOODOOoDOoOOoOOO
ggobooood

o1

02

03

0000 r=(z,y,2) 000 r=|r|0000¢(r)00000000000000000
1-1. V x (¢(r)r) 000000
1-2. 00 »=0000 V- (¢(r)r) =00000 ¢(r) 00000

00000000000 w=logz0O0OOOODOOOOO00O00000000000z=eY
000000000000000
2-1. ;00000 z=re (r, 00000 +>0)0000000

logz =1Inr+i(0 + 2mn) (n=0,£1,£2,...)
0000000000000 000 mr0000DO0OODOODOODOO

2-2. 0000 w=2%(a: 00000 D02%=¢**8?00000000000000000OO
goboboooooooooaon

i, 1v?
Dooooo , i
f;xyzag$¢) 0<z<1,t>0) (1)
00 f(z,t)0000000000000000000000
f(,0) = g(x) (2)
f(0,8) = f(1,8) =0 (3)

0000000000000

3-1. 0000000 f(2,t) = uw(z)o(t)000(3) 0000000000 (1)00000000
0MO00000()0000000000000

3-2. 003100000 «(¢)00000000000000000000000000O00O0
0000000000000000

3-3. 000 (2)0000000031000000000000000003-2000000

noooooo
g(x) = [sin(2mz)]

00000000 f(x,t)DOOOO



00 VI

g0o0o0ob0ooboboooboobuoob e00O0O0DbO0ODUOODDO0ODmMOODDOO
EENREN

() 0000000000000 000000O000000000DU0DO0DO00000OO0O0OOn
ggoboboooobooooa

(2) 000000000 D0O00D0O0O00O0O00O0O0DO0O0UO0O0O00O0OO0DDOO0OOOn
ggobbooooboboooobobod

(3) 0000000000000 DO0O00O0O00O0DO0D0O00O0O0DO0ODO0OOOOOO
gogobobooooboboooobboooobboooobbboooobo

(4 00000000000000000O0D0O0O0000O00O0DOO0ODOO0ODOOOOOOO
ggoboboooobbbooobbbooobbbuoooobo

(5 0000000000000 0DO0O0O0OO00D0O0ODOO0O0DOO0OODOOOO
goobooood





